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S AICI AR Bt 300,000 250,000 50,000
SANL(ZELXNGMNL/NSL A 300,000 250,000 50,000
ZOI0IEHZAIHEANLEUXNEASESA(EI0IEHE 300,000 250,000 50,000
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ZII0IESEZAAHSAEHRE & 300,000 250,000 50,000
401 A& HIZ 201 Y] 300,000 250,000 50,000
01 A& HI 293,400 246,000 47,400
O&EII0IEE TAIHEANLE B4 293,400
—EXH 60,000,000&  3E X 180,000
—HE24 20,000,000 * 3= 60,000
—Hd=EA 17,800,000& * 3= 53,400
03 AlE 2 THHI 6,600 4,000 2,600
OZIINIEY SAHEANE 24 (HLH L
*>=2) 6,600
—AEEILLE
1,500,000& 14l = 200 At 3,000
—ElZgsgsr8 1,550,000& * 2&€ X 3,100
—JIet Ol =8 S 500,000& = 14 500




